HH&S 16787

5<4< Ver 2.0.0.3 build 20250116 %47R : 2025% 028 118

ETH - FCSRTOFHE

PAEKERER HEIS

9-1

f=TH IF 12 : X5, Y4 |
S-P-F ERIE24R

f=T# IF {ZE : X6, Y4
S-P-F B4R 2-204

| 2-204
A=67 6cm2 Z=100. 3cm™3 1= 446cmd
i=2 57cm Fe=17. 4N/mm"2 Lk=233. 6cm
Kz= 1.0

A=Lk/i=233 60/2 57-90.92 A <100 n=13—0 01x A=1,3—0 01x90 92=0 39

A=67 6cm2 Z=100 3cm™3 I= 446cm4
i1=2.57cm Fe=17 4N/mm"2 Lk=233. 6cm
Kz= 1.0

A=Lk/i=233.60/2 57-90.92 A =100 n=1.3-0 01x A=13—0 01x90 92=0 39

[REA(ErF)] &3 (Nc)=10454N
o =10454 (Nc) .~ 6764 (A)=1. 55N/mm"2
fk=1/3x1.1x17 40x0. 39=2, 49N/mm"2

WBWEL = o/fk=1 55/2.49=0.62 < 1.00- - - 0K

[RHI ()] 847 (Nej=5996N
0 =5996 (Nc}.~6764 (A)=0. 89N /mm"2
fk=1/3x1 1x17 40x 0. 39=2, 49N/mm"2

BEL = o/fk=089/2.49-0.36 < 1.00- - - 0K

[EH GETE) ] 80 (Nei=10454N
o =10454 (Ncj .~ 6764 (A)=1. 55N/mm"2
fk=1/3x0.8x2,0x17 40x0, 39=3 63N/mm"2

WBWEL = o/fk=155/3.63=0.43 < 1.00- - - 0K

a8 (D] @h (No) =8765N
o =8765 (Nc} 6764 (A)=1. 30N/mm"2
fk=1/3x0.8x2 0x17 40x0, 39=3. 63N/mm"2

BEL = o/fk=1230/3.63-0.36 < 1.00- - - 0K

f~T# IF {2E : X:6.5 Y4

f=T# IF {ZE : X8, Y4

S-P-F B4R 2-204

S-P-F B4R 2-204

A=67 6cm2 Z=100 3cm™3 1= 446cmd

i=2.57cm Fe=17 4N/mm"2 Lk=233, 6cm

Kz= 1.0

A=Lk/i=233 60,2 57=90.92 A =100 n=1 3—0 01 x A=1 3—0 01 %90 92=0 39
[RHA(EER)] 87 (Nc)=7569N

o =7569(Nc}.~6764 (A)=1. 12N/mm"2

fk=1/3x1.1x17 40x0, 39=2, 49N/mm"2

BEL = o/fk=1 12/2 49=0 45 = 1 00- - - 0K
[} GETE) ] 80 (Ne)=10476N

o =10476 (Nc) .~ 6764 (A)=1. 55N,/ mm"2

fk=1,/3x0.8x2 0x17 40x0, 39=3 63N/mm"2

BEL = o/fk=1 55/3 63=0.43 < 1.00- - - 0K

A=67 6cm2 Z=100 3cm™3 I= 446cmd

=2, 57cm Fe=17 4N/mm"2 Lk=233, 6cm

Kz= 10

A=Lk/i=233 60,2 57=90.92 A =100 n=1 3—0 01x A=1 3—0 01x90 92-0 39
[REA(EE) ] 877 (Nc)=9766N

o=9766 (Nc} .~6764 (A}=1 44N/mm"2

fk=1/3x1.1x17 40x0, 39=2 49N /mm"2

BREL = o/fk=1 44/2 49=0 58 < 1.00- - - 0K
(e (TR ] #A (Ne)=12007N

o=12007 (Nc} .~ 6764 (A)=1 78N/mm"2

fk=1/3x0 8x2 0x17 40x 0 39-3. 63N/ mm"2

BEL = o/fk=178/363=0.49 < 1.00- - - 0K




HH&S 16787

5<4< Ver 2.0.0.3 build 20250116 %47R : 2025% 028 118

ETH - FCSRTOFHE

PAEKERER HEIS

9-2

F2T# I 2B : X:10.5, Y4 |

S-P-F B4R | 2-204

f=T# IF E: X111
S-P-F B4R 2-204

A=67 6cm2 Z=100. 3cm™3 I= 446cm4
i=2 5Tcm Fe=17 4N/mm"2 Lk=233. 6cm
Kz= 1.0

A=Lk/i=233 60/2 57-90.92 A <100 n=13—0 01x A=1,3—0 01x90 92=0 39

A=67 6cm2 Z=100 3cm™3 I= 446cm4
i1=2.57cm Fe=17 4N/mm"2 Lk=233. 6cm
Kz= 1.0

A=Lk/i=233.60/2 57-90.92 A =100 n=1.3-0 01x A=13—0 01x90 92=0 39

(R (EEE ] 81 (Nc)=13340N
0 =13340 (Nc) .~ 6764 (A)=1. 97N/mm"2
fk=1/3x1.1x17 40x0. 39=2, 49N/mm"2

BEL = o/fk=1 97/2.49-0.79 < 1.00- - - 0K

[R&I ()] 47 Ne)=5382N
0 =5382 (Nc} .~ 6764 (A)=0. 80N /mm"2
fk=1/3x1 1x17 40x 0. 39=2, 49N/mm"2

BEL = o/fk=080/2.49-0.32 < 1.00- - - 0K

(8 T ] 8 (Nei=17093N
0 =17093 (Nc; .~ 6764 (A)=2. 53N/mm"2
fk=1/3x0.8x2,0x17 40x0, 39=3 63N/mm"2

BEL - o/fk=2 53/3.63=0.70 < 1.00- - - 0K

a8 (D] @ (No) =6304N
0 =6304 (Nc} .~ 6764 (A)=0. 93N/mm"2
fk=1/3x0.8x2 0x17 40x0, 39=3. 63N/mm"2

BEL = o/fk=093/3.63-0.26 < 1.00- - - 0K

f=T# IF X X1,Y3

f=T# IF {ZE : X:10.5,Y8

S-P-F B4R 2-204

S-P-F B4R 2-204

A=67 6cm2 Z=100 3cm™3 1= 446cmd

i=2.57cm Fe=17 4N/mm"2 Lk=233, 6cm

Kz= 1.0

A=Lk/i=233 60,2 57=90.92 A =100 n=1 3—0 01 x A=1 3—0 01 %90 92=0 39
[RH(ER)] 87 (Nc)=5476N

o =5476(Nc}.~6764 (A)=0. 81N/mm"2

fk=1/3x1.1x17 40x0, 39=2, 49N/mm"2

BEL = o/fk=0 81/2 49=0 32 = 1 00- - - 0K
[%28 GETEF) ] 8 (Ne)=6398N

o =6398(Nc} .~ 6764 (A)=0. 95N /mm"2

fk=1,/3x0.8x2 0x17 40x0, 39=3 63N/mm"2

BEL = o/fk=0 95/3 63=0.26 < 1.00- - - 0K

A=67 6cm2 Z=100.3cm™3 I= 446cm4

=2, 57cm Fe=17 4N/mm"2 Lk=233, 6cm

Kz= 10

A=Lk/i=233 60,2 57=90.92 A =100 n=1 3—0 01x A=1 3—0 01x90 92-0 39
[REA ()] 877 (Nc)=8405N

o =8405 (Nc} .~6764 (A}=1, 24N/mm"2

fk=1/3x1.1x17 40x0, 39=2 49N /mm"2

BREL = o/fk=124/2 49=0 50 < 1.00- - - 0K
(e (FRERF) ] #A (Nc)=10878N

o=10878 (Nc} .~ 6764 (A)=1 61N/mm"2

fk=1/3x0 8x2 0x17 40x 0 39-3. 63N/ mm"2

RIEL = o/fk=161/3 63044 < 1.00- - - OK




HH&S 16787

5<4< Ver 2.0.0.3 build 20250116 %47H : 2025% 028 118

ETH - FCSRITOFHE

PAEKERER #HETIS

9-3

f=TH# IF £2E : X5, Y0 |

S-P-F HE24R | 2-204

f~T# IF {4 : X:8.5,Y0
S-P-F B4R 2-204

A=67 6cm2 Z=100. 3cm™3 I= 446cm4
i=2 5Tcm Fe=17 4N/mm"2 Lk=233. 6cm
Kz= 1.0

A=Lk/1=233 60/2 57-90.92 A <100 n=1.3-0 01x A=13—0 01x90 92=0 39

A=67 6cm2 Z=100 3cm™3 I= 446cm4
i1=2.57cm Fe=17 4N/mm"2 Lk=233. 6cm
Kz= 1.0

A=Lk/i=233.60/2 57-90.92 A =100 n=1.3-0 01x A=13—0 01x90 92=0 39

[R#A R ] 85 (Nc)=11016N
o=11016 (Nc) .~ 6764 (A)=1. 63N/mm"2
fk=1/3x1.1x17 40x0. 39=2, 49N/mm"2

BEL = o/fk=1 63/2.49-0.65 < 1.00- - - 0K

[REI ()] 47 Ne)=6784N
o =6784 (Nc}.~6764 (A)=1. 00N /mm"2
fk=1/3x1 1x17 40x 0. 39=2, 49N/mm"2

BEL = o/fk=100/2.49-0.40 < 1.00- - - 0K

(8 GETE) ] 80 (Nei=11486N
o =11486 (Ncj .~ 6764 (A)=1. 70N/mm"2
fk=1/3x0.8x2,0x17 40x0, 39=3 63N/mm"2

BEL - o/fk=1.70/3.63=0.47 < 1.00- - - 0K

a8 (D] @h (No) =8481N
o =8481 (Nc} .~ 6764 (A)=1. 25N/mm"2
fk=1/3x0.8x2 0x17 40x0, 39=3. 63N/mm"2

BEL = o/fk=125/3.63=0.35 = 1.00- - - 0K




